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Co-ordinate Axes and co-ordinate planes in three
Dimensional space.

fafig oidRer # fMdered—aer iR fAcene—dd

xoy or xy - plane(<ier)
yoz or yz - pl ane(de)

7 xoz or xz - plane(de)

O = origin (9 fa=g )
Co-ordinates of a point in space

3idRer § vs fa=g & e

Y
A
P(X,y,Z
Y (x,,2)
olXS 0y
\
z

i) In x-axis = y=0,z=0, point = (x,0,0)

X— 3T H y=0,z=0, fdg = (x,0,0)
ii) In y-axis = x=0,z=0, point = (0,y,0)
y— 38T H =x=0,z=0, fad=_ = (0,y,0)

point = (0,0,z)

f3g =(0,0,2)

point = (x,y,0)

g = (x,y,0)

point = (x,0,z)

ﬁﬁ = (x,0,2)

point = (0,y2)

iii) In z-axis = x=0,y=0,
z— 3 H =x=0,y=0,

iv) In xy-plane = z=0,
xy—dad H =2z=0,

v) In xz-plane = y=0,
Xz— ddH = y=0,

vi) In yz-plane = x=0,

Introduction To Three Dimensional Geometry

fFfaa sofafa &1 afag

4.  Distance between two points
3 figel & 99 0 0
P(x,y,z,) Q(x,,2,)
PQ = \/(1'2_1’1)2+<y2_y1>2 +(Z2_21)2
5. Section Formula (fa9rs= 93)
A. Internal Division Formula
Plx,y,2) R(x.2) Qx,y,2,)
m n
PR:RQ =m:n
— _ ([ mx, t+nx, my» + ny: mz, +nz )
R (XaYaZ> < m+n s m-|—n > m+n
B. Mid -point Formula (Fed — favg )
P(xl’yl’zl) Q(xz’yz’zz)
. I . I °
b My
_ (XX it Y2 214+ 2
M‘(X’y’z)‘< 2 22 )
C. External Division Formula(d1g3 fawre =)
P(xl’yI’ZI) Q(xz’ygng) R(x’y’f)
. o T o
» m <
PR:RQ =m:n
Rz(xyz):<mx2_ﬂx1 my: — W mZz_nZl)
T m—n > m—n ’> m—n

Note :- For Ratio (37gu1d & fo1Q)
Let(®™1) mmn=A:1
i. A=+ve = Internal division (3fd: fawTSIT)
ii. A=-ve = External division (IT83 IS

yz — dd 7 = x= 0, %@ =(0,y,2) Multiple Choice Questions
: fadedia yz=
Octants (3r<Tel) :- (% )
1 0l v v vl [vin v 1. The co-ordinates of any point,which lies on x axis
+ |- - + |+ |- - + are . -
P 1 x— 31T R Rera f=ft g @1 fdena &
y - - - -
(@  (0.x,0) (b)  (x,0,0)
B A L S . S e L ©  (xx0) CEET)
WH&T-11 (MO (131)




2. The co-ordinates of any point, which lies on xy- fig (3.-4,0) Rera 2
1
plane _ o (a)  x-axis (-7 W)
xy — dd W Rerd =i &g &1 fadens & (b)  xy-plane (xy-Tdel W)
(@)  (x02) (®)  (x,0,0) (¢)  yz-plane (yz-del W)
(C) (x,yao) (d) (O,y,Z) (d) xz_plane (xz-ﬂ?[ 'CR’)
3. Ap g}nttat which tal} Ellle three perpendicular 11.  Which of the following point lies on xy-plane
coordinate axes meets is known as
N o~ e o . fr=feriRad & &1 &4 491 a5 xy - da W Rerar @
| Al Tad s o g R e ®
weot s
Y sVs™ sV
(a) Meeting point (YfreB< ﬁ?g) ) ) o
. . 12.  Which of the following point lies on xz-plane
(b)  Origin point (oI fd=g)
(@) Noneof these (&7 5 7% 8D © 028 @ (.20
4, (-1,-5,-7) lies in octant ) o )
(1.5.7) o 3 R & 13.  Which of the point lies on third octant
o 1 A7 9 B w1 fIg A ey R Rerd &
@ o @ (2D O (27
© @ © (42 @ (279
> (2,8,-1) lies in octant 14. The equation of plane passing through (-1,0,-1)
(2,8,-1) 3rcier ® Rerd & parallel to xz-plane is
(a) First (W)  (b)  Second(fZ) xz- T & TR, @5 (-1,0,-1) & ToRT aret
(c) Sixth(¥<®) (d) Fifth(d=m) A BT FADRT &
ies i (a y=-2 (b) y=0
6. (-4,2,-7) lies in octant © xtz=0 @ x=0
(-4.2,-7) sTeerer & Rerd & 15.  Coordinate of the origin is
(a)  Third (q) (b)  Fourth(Irgeh) T g a1 Fwie @
(c) Sixth (¥H) (d) Seventh(H<IH) (@ (1,1,1) (b)  (0,0,1)
7. (4,-3,-1) lies in octant () (0,1,0) (d) (0,0,0)
(4,-3,-1) 3rcier & Rerd 7 16.  Which of the following is Not correct?
(@ I (b)y I 1 7 9 P 9 LT 57
(c) VI (d I _
(@)  (2,0,4) lies on xz-plane(xz- T TR Rerd )
8. (2,0,0) lies in ((2,0,0) Rerd 2) (b)  (0,0,-8) lies on z-axis (z- 31eT W Rerd 8)
(a) Toctant (JIH 3T (¢)  (-1,3,0) lies on yz-plane(yz- G TR Rerq &
(b) x-axis (x-37eT) (d)  (0,0,0) is origin( =g )
(c) y-axis (y-3180) _ 17. The distance between the points (-2,1,-3) and
(d)  None of these (371 & ®Ig 2 (4,3,-6) is
9. The point (3,0,-4) lies on the figatl (-2,1,-3) 3R (4,3,-6)  d= @1 ¢
fdg (3,0,-4) Rerd & @@ 5 (b) 2
(a) x-axis (x-31&7 W) © 3 d 7
(b)  xy-plane (xy-del W) 18. The dis'tance between the points (0,7,10) and
(c) yz-plane (yz-dd1 WR) ('_1’6’_6) 15
() xz-plane (xz-e W) fdgail (0,7,10) R (-1,6,6)d & &1 g2 &
10.  The point (3,-4,0) lies on the @ 3 b) 3 \E
BET-11 (TI'fU\'IT‘D rﬁ




© 2 @ 2v3

5
19. The distance between the points A(0,7,10) and 13 -14
B(-4,9,6) is (d) (T,g,?>
fﬁgaﬁ A(0,7,10) 3R B(-4,9,6) % Il @1 « e 26. The co-ordinates of the point which divides the
(a 6 (b 3 join of A(3,2,5) and B(-4,2,-2) in the ratio 4:3 is
© 3v2 d 2 fargall AG3,2,5)09 B(-4,2,2) BT fem & a1
20. The distance between the origin and (2,3,4) is W@_Eﬁ 4:331uTd ¥ AT @R arel fawg)
qat fig dom (23,4 @ = & 7 2 & fee
(C) 3 (d) 5 (C) (—1,2,1) (d) (1,'291)
21, IFA(1-1.3) and B(2,3,-5) are two points then AB 2/~ Mid-point of A(2,4.6) and B(-2,2.4)
will be A(2,4,6) TT B(-2,2,4) &1 7edl — fag &
T A(1,-1,3) 3R B(2,3,-5) a1 gt € aF AB (@  (0,1,5) (b) (03.4)
A BT (¢)  (03.-5) (d (03.5)
(a o6 (b) 3 28.  Mid - point of line segment of the points (0,-1,2)
c 9 (d 4 and (2,1,-2) is
22, The points P(-2,3,5),Q(1,2,3) and R(7,0,-1) are in fagatt (0,-1,2) 3R (2,1,-2) @1 e arell
order form &1 7eg — fag ®
fag¥ P(-2,3,5),Q(1,2,3) 3R R(7,0,-1) %5 ®U & @@ (1,0,0) (b)  (0,1,0)
: - (© (1,1,0) (d (LLD)
(a)  collinear(Fv) ' o '
(b)  Non-collincar(3rR) 29. If point p lies in the first octant, then the sign of
(©)  Right angle triangle( Yo B x-coordinate will always be
(d)  None of these(zT & PE Teh) R fawg P Uer st A Rerd & q x - frdsire
BT fag g9em 8r
23.  The points (-2,3,5),(1,2,k)and (7,0,-1) are collinear (a) +
then k will be (b) -
a5 (-2,3,5),(1,2,k) 3R (7,0-1) @ € @ k (c)  x coordinate always 0
ARG (x- IBERIED gff?ﬂ 0 ?)
(@) 2 (b) 3 (d)  x-coordinate can be + or -
() -3 d 1 (x- frderi + A - &1 AHar B)
24.  Thepoints (3,-2,4),(k,1,1)and (-1,4,2) are collinear  30- ~ Which of the following is undefined
then k will be frfalRad § & & uRwifd g—
g8 (3,-2,4),(k,1,1) 3R (-1,4,2) &g & @ k (@) point(fa=g)
CaRIE! (b) Lines (@)
(a) 3 b) 1 (c)  plane(qa)
() -1 @ 2 (d)  All of the above(FwR & )
25. T}}e co—ordina‘Fes of the point which dividés the Very Short Answer Type Questions
join of the points P(5,4,2) and Q(-1,-2,4) in the @fY @y S uw)
ratio 2:3 1s
fa=gam P(5,4,2) oM Q(-1,-2,4) ®1 Al & 99 Find the distance between the points
Wa% .Eﬁ%}z:SWﬁﬁ“ﬂﬁHWmﬁﬁﬁ Rl & 9 B g8 17 W
5°5°5
38 4 2. (-3,7,2) and (3iR) (2,4,-1)
o (353)
HafT-11 ATOTD) =
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3. (-1,6,6) and (3IR) (-4.9,6) I ve famg y - ot R Rerd & a1 x @1 z &

4. (2,4,3)and (81R) (2,2,1) IS A E?

5. (0,0,1) and (3iR) (1,1,1) 15.  Find the distance between (0,0,0) and (a,b,c).

6. Find the mid-point of the line- segment points (0,0,0) T (a,b,c) & &= I 0 =T FY
P(7’0’_2) and Q(3,2,4) . Short Answer Type Questions
fa=gail P(7,0,2) 3R Q(3,2,4) ®I A= arell w=an (g SR )

BT e fd=g 91 Y|

7. Find the mid point of the line - segment points 1. Show that.the points (3,-5,1), (-1,0,8) and (7,-10-
(0’2’1) and (7,8,9) 6) are collinear.
famgail (0,2,1) @2 (7,8,9) BT el arell YT a3 3%% fIg (35,1, (-1,0.8) T (7,-10:-6)
7 g S AN | N

8. In which octant does each of the given points lie? 2. Fipd t}tl‘et;:loordi.natltefs)af;h;)poil(ljt vahghA‘dig)id.es :Ee

. _ _ join of the points P(1,2,3) an ,4,-6) in the
fav v fag¥ 5 srefer R Rerq @ ratio 2:3.
) (2,4,6) fa=gail P(1,2,3) @ Q (2,4,-6) B M &
3 RERITE BT 2:3 AT ¥ AT B aret
(i) (-12:-1) & frdenie =a I | s
(iit) 4.2-1) 3. Find the mid point of the line - segment points
(iv) (-2,-3,-7) (5,6,8) and (3.4,2).
v) (-2,8,-1) fa=gatl (5,6,8) AT (3,4,2) BT FHAT dTell YI@RITS
B 7Y — fd=g o SN |
(vi) (3.,-1,-2)
= 4. Find the ratio in which the line - segment joining
(vii) — (-8,-4.6) the points (4,8,10) and (6,10,-8) is divided by yz -
(vili)  (-7,6,-4) plane .
- . fa=gail (4,8,10) T2 (6,10,-8) BT fHATT @retl

9. If a pplnt lies on xz - plane then what is its y - 3 vz — qa BN o e

coordinate? BN A !
S DI |
I T g xz -9 R Red ¢ @1 599 y -
e a7 27 5. Show that the points A(0,7,10),B(-1,6,6) and C(-
o o _ 4,9,6) are the Vertices of right -angled triangle.
10. iiflorr):l)illrllatltgis on xy - plane then what is its point 57 5 R A(0.7.10).B(-1,6.6) 3R C(-4.9.6)
' T TR T & o ¥
e v fag xy - 9 R Rerd & a1 fIg &1 :
Ao @I 8? Long Answer Type Questions
' (el Sada geA)

1. If a.point lies on x - axis then what is its point co- | Prove that the points (0,7,-10),(1,6,-6)and (4,9,-6)
ordinate ? are vertices of isosceles triangle.
ﬁw%f’%qqﬁ%%ﬁy g %@aﬁﬁn—w(mm)(léé)aw(wé)
Rcer® @I 5"

vep wHfgarg et @
_ . i -

12.  In which plane does the point (4,-3,0) lie * 5 Show that the points (2,3,5).(-4.7.-7)(-2.1 ~10)
ﬁ@ (4,-3,0) fooer et R Rerd 87 and (4,-3,2) are the vertices of a rectangle.

13.  In which axis does the point (0,-2,0) lie ? cuigy f& fagy (2,3,5),(-4,7,-7).(-2,1,-10) T
g (0,-2,0)f% @17 § Rera 27 (4:-3.2) 0 &I B A €|

L ) ) 3. Let A(2,1,-3) and B(5,-8,3) be two given points.

14, If a pormnt lies on y - axis then what its x and z co- Find the coordinates of the points of trisection of

ordinate ? the line segment AB.
HafT-11 ATOTD) (737)




AT A(2,1,-3) 7o B(5.,-8,3)f%T v a1 fagy € |
ERITE AB ®1 9 F—wiford a3+t arel fa=gait
& frdena smd S |

4. Find the mid-points of all sides of triangle ABC,
where A(2,4,6),B(3,2,1) and (-2,0,1).
Bryst ABC & Wl yorrell & #ea — fd=gU =i
PR, STBt A(2,4,6),B(3,2,1) 3R C(-2,0,1) T |
5. Find the equation of the curve formed by the set of
all points whose distance from the points (3.,4,-5)
and (-2,1,4) are equal.
fdgall & a9 ATy BT FHBROT S (BIY
ST fa=gall (3,4,-5) @1 (-2,1,4) & RAT |AM
=
Multipule Choice Question
( sgfaweda gl &1 STv )
I. b 2. ¢ 3 b 4. b 5. d
6. c 7. ¢ 8 b 9. ¢ 10. b
II. b 12. b 13. a 14. b 15. d
16. ¢ 17. d 18. b 19. a 20. b
21. ¢ 22, a 23. Db 24. b 25. a
26, ¢ 27. d 28. a 29. a 30. d
Very Short Answer Type Questions
(erfar org, S¥I™ UeA)
1. Ans :-
A(2,3,5) B(4,3,1)
o o
'x] = 2 xZ = 4
»,=3 y,=3
z,=5 z,=1
By distance formula (S G 9)
AB = \/<x2 - X1)2 + (y2 ')/1)2 + (Zz - Zl)2
=V(4-27+(G-3)+(1-5)
=y4+0+16
= /20 units (A1) Ans.
2. Ans:-
A(_3a792) B(2547_1)
e )
x,=-3 x,=2
v,=17 y,=4
z,=2 z,=-1
By distance formula (531 g )
HafT-11 ATOTD)
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AB = \/(Xz'm>2+(y2 -y1)2+(22-21)2
=/ +37+(4-77+(-1-2)
=/25+9+9

= /43 units (A11®) Ans.

Ans:-

A(-1,6,6) B(-4,9,6)
°® °

x,=-1 x,=-4

Y= 6 Y= 9

z,=6 z,=

By distance formula (S 93 )

AB = \/(Xz ‘X1)2+(y2 'y1)2 +(Z2 'Zl)2
=/(-4+17+(9-6)+(6-6)

=y/9+9+0
= \/ﬁ
= 3\/5 units (H13e) Ans.

Ans:-

A(2,4,3) B(2,2,1)
°® °®
x,=2 x,=2
y,=4 y,=2
z,=3 z,= 1

By distance formula (1 ¥ ¥)

AB = \/(xz-x1)2+(yz 'y1)2+(22'21)2
=J(2-2)+(2-4y+(1-3)

=y0+t4+4
-8
= 2\/5 units (AT3D) Ans.

Ans:-

A(0,0,1) B(L,L,1)
[ ®
x,=0 x,=1
y,=0 y,=1
z,=1 z,=1

By distance formula (X1 g3 ¥)




AB = \/(xg-x1)2+(y2-y1>2+(22'zl)2 12.  Ans:-  xy-plane (xy - Tol)
=Ja-0r+-0y+@1-1y 13, Ans- - axis(y-3%7)
=vIt1+0 14. Ans-  x=0,z=0
=42 units (A73e%) Ans. 15. Ans:-
) A(0,0,0 B(a,b,
6. Ans:- (‘ ) (a .c)
P(7,0,2) Q@(3.,2,4) x,=0 xX,=a
° H H ° _ ’
M(x,,2) y,=0 y,=b
x,= x,= z,=0 z,=¢
y,=0 y,= By distance formula (@ €l )
4= 22_4 AB:\/(Xz'X1>2+(y2'y1)2+<Z2'21)2
Mid - point of PQ (PQ T #ed fawg) =/(a-0F+(b-0F+(c-0)
M=(xy)=<xl+x2 31+ Zl+22> =yd'+b'+c" units (wr=ep) Ans.
’ 2 2 2
< 74+3 0+2 2+4 > Short Answer Type Questions
) (crg S<E gwE)
~(10 2 6
R 1. Ans:-
=(5,1,3) Ans Given points ( faU Y fd=g0 )
7.  Ans:- A=(3,5,1)
A(0,2,1) B(7,8,9) B=(-1,0,8)
[ ® H ®
_0 M(x,,2) B C=(7,-10,-6)
X, = x,= .
y =2 By distance formula (@ A )
1 y2: . .
z,=1 =9 =J(-1-3)+(0+5F+(8-1)
=y/16+25+49 =490 =34/10
Mid - point of AB (AB &T 7¢I ﬁﬁ) \/: \/72
e BC=+/(7+17+(-10-0)+(-6-8)
_ _ ity :
M—(x,y>—<)“2’”, - Z,lezz> = /64 +100+ 196 =4/360 = 6410
<0;7 2;8,1;9) AC=y(7-3V+(-10+5F +(-6-1)
_(7 10 10 =16 +25+49 =90 =3410
h <777)
7
= <7,5, 5) Ans clearly (3uec:) BC = AB+AC
.. Given points are collinear
8. Ans:- . .
- Ry v fagl v B
(i). I (i1) VI (i) V
(iv). VII (y) VI (vi). VI 7. Ans--
(vii) I (viii) VI
P(1,2,3) R(xy2) Q(2.4,-6)
° ® 3 ®
_ 2
9. Ans- y=0 PR:RQ =m:n=2:3
10.  Ans:-  (x0) m=2,n=3
11. Ans:- (x,0,0)
BET-11 (TI'fU\'IT‘D r@




By internal division formula(3/=:fa9re= g3 9)

(e )

mx; tnx; M2 T mz+nz
m+tn > m+tn ° m+n

:<2><2+3><1 2x4+3%x2 2%(-6)+3X3

A(0,7,10)
A=(0,7,10)
B= (_1)6,6)
c= (_4a916)
B(-1,6,6) C(-4,9,6)

By distance formula (1 3 ¥)

)

¥y a%3 o 243 AB=y(-1-0f +(6-7) +(6-10)
:<4+3 8+6 -12+9> =/(1+1+16)
>3 =/18 =3/2 - AB'=18
=(%%%) Ans. BC=+/(-4+1)+(9-6)+(6-6)
N =/9+9+0
. ns:-
=/18 =3y2 - BC*=18
AC=y/(-4-0F +(9-7)+(6-10)
Mid-point of line AB (X&T AB &1 77 — dwg) =J16+4+16
M=(xyz):<x1+xz ity 21+22> :‘/%:6 - AC* =36
T 2 2 2
_ ( 54+3 6+4 8 +2) Clearly (Q:q-QFf)A(:2 =AB?+ B(C?
Q ? 0 , 1 02 $ 2 By pythagoras theorem (UTSUTIRY YHI 9),
- (7’7’7) ZB = 90°
=(4.5,5) Aus. So, Given points are vertices of right angle
4, Ans:- triangle.(faU 7T fa=g¢ AHSIVT Fryat & oY 2 |)
R =yz - plane (ae1) = (0,,2)

® o .
A(4.8.1 6,10,-8 Long Answer Type Questions

(4,8,10) Q( ) i i e
Let (A1) Ratio(3T4Td)

AR :RB=m:n=A:1 1. Ans:-

By section formula (fd¥e 3 9) A=(0,7,-10) A
RZ(A-(6)+4 A-(10)+8 A~(-8)+10> B = (1,6,-6)

A+1 > A+1 > A+1
(0 Z):<6A+4 104+ 8 -8A+10> C=(4.9.-6)

e A+1° A+1° A+1 B C
Compairing(JeT™T T W) By distance formula (1 3 ¥)
0-8454 _gira-0-2-F AB=y/(1-07+(6-7)+(-6+ 10)

- =/1+1+
So, A =?2 (External) (1+1+16)
, =J/18 =3y2
.. Ratio=A:1=2:3 Ans.
Ans:-
WHEMT-11 (TOTA)
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BC=y(@4—17+(9-6V+(-6+6)

clearly (0cd:) AC=BD

=,/94+9+0 Diagonals are equal (fd@of T+ €)
=418 =3\/§ .. Given points are vertices of rectangle
fagt e & o &
AC=(4-0) +(9-7) +(-6+10) faw |
—J16+4+16 3. Ans:-
:\/% = 6 A T T H B
(2,1,-3) (5,-8,3)
clearly (FI<d:) AB =BC AP=PQ=0QB
So, Given points are vertices of isoscels triangle. Let P and Q are the points of trisection of AB.
(Ry v gt wHfgarg Byst & MY €1) Proved a1 AB & W i fasgy P aer Q 1
Ans:- Then P divides AB in the ratio 1:2 and Q divides
Let A=(235,) A B AB in the ratio 2:1.
B=(47-7) P,AB &I 1:2 % foford &xar & @21 Q , AB &I
T 2:1 ¥ faufoTe _am € |
C=(-2,1,-10) . . -
Now internal division formula (3fd: fa¥Te =
D= (4,3,2) )
C
P:(1><5+2><2 1x(-8)+2%x1 1x3+2x(-3)
By distance formula (§37 3 9) 1+2 1+2 ’ 1+2
AB=y/(-4-20+(7-3F+(-7-5) P=<5§4,_83+2,3;6)
=/ (36+16+144) P=(2 -6 _3>
=,/196 =14 3°3°3
P=(3,-2,-1) Ans.
= Sr+4V+(-7P+(-10+7) >
BC=y(-2+4) +(1-7V+(-10+7) And
TVAT36T9 Q:<2><5+1><2 2x(-8)+1X1 2><3+1><(-3)>
=149 =7 241 0 241 2+
. : _(10+2 -16+1 6-3
CD =/ (4+2F+(-3-1) +(2+10) Q< 33 3 )
=4y36+16+ 144 _ (12 -15 3
Q=333
=4y196 =14
Q=<4,-5,1) Ans
AD=v(4-2) +(-3-3) +(2-5)
4. Ans:-
=4/4+36+t9
_ a9 =7 A =(2,4,6)
B=(3,2,1)
clearly (<) AB=CD and BC=AD
L . . C=(-2,0,1)
opposite sides are equal (T YOIV FHTA 21) B . . C
3d(Now):- (3.2,1) Q (-2,0.1)
AC=y(-2-2F+(1-3F+(-10-5) P =Mid - point of AB (AB T #&d fdg)
=16 +4+225=4/245 :(2+3 4+2 6+1>
BD =y (4+4F+(-3-7) +(2+7) T
~(3.5])
=64 +100+ 81 = /245 2°72
WH&T-11 (MO (138)




Q = Mid - point of BC (BC &1 #&g fdwg)

:(3-2 2+01+1>
20 2 2

(L
‘<2JJ>

R = Mid - point of AC (AC &T #eg fdg)

:<2-2 4+0 6+1>
2 0 2 2 2

(027
~(02)

So , Mid - points of sides AB, BC and AC
. 5,7\(1

of triangle ABC are <7,3,5>, (j,l,l) and

(0, 2, %) respectively.

31 F2r[st ABC @ HoTiall AB, BC @211 AC & 5l

. (S 7YV (L VAR
fﬁTg{QW-(2,3,2>,<2,1,1>?‘f?ﬂ(0,2,2>%\'I
Ans:-

Let P(x,),z) be any point on the given curve and let
A(3,4,-5) and B(-2,1,4) be the given points.

AT P(x,y,2) foT T 96 W Rerd o fag 7 8l
HAET A(3,4,-5) T2 B(-2,1,4) fau 17 fa=50 |

A(3 545_5)

P(x,,2) I B(-2,1,4)
Given
PA=PB
= PA?=PB?  (Squaring both sides )
= (-3 -4+ 5= +2+ (- 1)+ (z-4)

= x2-6x+9+)*-8y+16+22+10z + 25
=x tdx+4+)y"-2p+1+22-82+16

= 0=10x + 6y -182-29
= 10x +6y-182-29=0

Which is required equation of curve.
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